XYZz,=98.12,100.0, 86.5

.95V,
8, =3[ (x=X) /)

biboizly

=1, b,y =04

X, =0,110, B, = 1,000

Crg=[AF+BA

6 OstwaldFarben (o)

von maximalem (m)C,g im
Buntwertdiagram (A,, B,)

I
-100

Parameter:

Y & Name
Lichtart P50
Y,=100 Y,=10

H P50

Lichtart PS50, Y, =1UQ Yy=10

Name Bereich X, ¥,
R, 570775 658 4256
¥, 495775 85.35 0455
G 495570 20.45 6208
C, 380570 42.24 6754
B, 380_495 22.68 1555
M, 570_495 78.57 48.02
W,,380_775 98.12 100.0
N, 380 775981 100
2, 380_775 17,66 180

68GO.
Xy Yo Ay A Sy

877 0.5617 0.3633 601 491 Y
1237 04430 04917 57 467 B
12.33 0.2836 0.5976 542 542c
86.47 0215 03441 491 601
8287 0.1872 01284 467 573
8291 0375 02292 5420542
865 03047 03513 100%
865 03447 03513 10%
1557 03447 03513 18%
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